2
o

ApTUKYN

HanmeHoBaHue

Kon

90-0289

bont

915-021-002

LWainba

246-630-003

Hox

246-647-004

ApanTtep

Bont M8x25

Bont M8x30

915-014-007

Koxyx pemHs

kD\IO\U'I-l}UJNI—\l

Bont M6x12

[EEN
o

laKka

[y
[N

Kopnyc

[EEN
N

915-021-012

MpyxunHa

[EEN
w

915-014-013

TAara

=
o

Wrnot

J N PN I FEEN I SN [ ST 'S NS RN (YN RN Y N

[EEN
u

laiKa

[EEN
N

[E
)]

Bont M6x16

[E
~N

KpoHLWwTenH

[EEN
(o]

909-402-007

[Buratenb T6

[E
X}

20460030000

BcTaBKa

N
o

915-021-020

Wryuep

N
[

60370020000

Konbuo

N
N

BTynka

N
w

915-014-023

3arnylwKa gasa MyibuvpoBaHua

N
N

MnactmHa 3ybyartas

N
(0]

KpoHLWTENH NpaBbIii

N
(o))

bont M8x15

N
~

70030060000

Ocb

N
(0]

915-014-028

MpyXKnHa

N
(\e]

915-014-029

KpblwKa

w
o

915-014-030

Oednexkrtop

w
XN

MnactmHa

w
N

BuHT M6%10

[\CJ) SNy RNy IR FERN FRENN [ NC] RN FRENY [FENNY UG FREGY FERN RN FREN P Fe))

Mogenb

Ffa30HOKOCUKa

LM46-60DE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

P

agel




Ne ApTUKYN HanmeHoBaHue Kon
33 Lepxxatenb 1
34 160380600000 |Mpy*KunHa 1
35 [eTtanb 1
36 [eTtanb 1
* 1915-021-038 |dukcaTop 60KOBOM KpbIWKM (33-36) 1
Mogenb
Fa30HOKOCUKA
LM46-60DE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 2




ApTUKYN

HanmeHoBaHue

Kon

15

90-0032

MogwnnHuk

38

246-630-038

Konnak

39

246-630-039

Koneco

40

Konnak BHYTPEHHWI

41

909-402-151

BTtynka

42

LWainba

43

915-014-042

Ocb nepeaHAan

44

915-014-043

Pemensb Li660

45

909-402-006

MpyxunHa

46

246-647-045

Ckoba

47

915-014-046

PeaykTop

48

246-647-047

Wrnor

49

909-402-159

BTynka

50

LWanba

51

915-021-054

LWarnba

52

909-402-162

LLlectepHn npaBasn

53

MnactuHa

54

MnactuHa

55

909-402-165

LLlectepHAa neBasn

56

Konnak

57

909-402-167

Koneco

58

909-402-003

Konnak

59

909-402-169

Ocb 3aaHAA

60

20270010280

PykoATka

Rl [NNMINIRIR[RIR[aINdMINIRIR[RIRIRIMININMINMINS

Ffa30HOKOCUKa

Mogenb

LM46-60DE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




/"\
71 Vi \ )
A
),
\\"\‘f“ //
3"\—’/-
72 y, 75
= 4‘,‘/ 91
737X A4 K10
110 10 A
75

Ne ApTUKYN

HanmeHoBaHue

Kon

71

Haknagka

72 |915-021-075

Pbiuar

73

Pyuka BepxHAA YacTb

74 (20030030000

KpoHwTenH

75

Bont M6x30

76

[eprKatenb

77 | 791-714-050

MaiKka

78 1915-021-081

Pbivar

79

Wrnot

80 | 246-630-068

LUToK

81 |70050180000

dukcatop

82 |915-021-083

Pyyka HMXHAA

83 | 246-630-071

Bont M8x30

84

Mpoknaaka

85

bapawek

86 | 911-696-142

laiKa

87 1915-021-088

[eprKatenb

88 | 915-021-086

bapawek

89 | 915-021-008

Tpoc Topmosa

90 | 915-021-023

Tpoc npueoaa

RIR[RrRr[N]R[BIN|BINRIMININMIN(RIRINMIR|RR R

91 | 915-021-024 |OepxaTenb
92 |246-630-079 |Pbluar
Mogenb
Fa30HOKOCUKA
LM46-60DE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




Ne ApTUKYN HanmeHoBaHue Kon
61 | 915-021-064 |TpaBocbopHUK 1
62 | 909-402-172 |Kapkac 1
63 LWaiba 2
64 Ocb 1
65 | 915-021-068 |MpyxunHa 1
66 [20750070000|MnaHKa 1
67 (20380090000 |KpbllLiKa TPaBOCOOPHMKA 1
68 MNnactnHa 4
69 TpaBOCOOPHUK BEPXHAA YACTb 1
70 | 915-021-073 |®unbTp TpaBocbopHUKa 1
Mogenb
FasoHoKocuka LM46-60DE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYN HanmeHoBaHue Kon
93 MaHenb ynpasneHus B cbope 1
94 |909-402-215 (3apsgHoe yCTPOMCTBO 1
95 [909-402-216 |AKKymynaTopHasa b6aTapesn 1
96 130010330000 |NpenoxpanuTtennb 2
97 (25190140000 |KpbiLwKa 1
98 130030030000 |BbikntouaTenb 1
Mogenb
94 95 Fa30HOKOCUKA LM46-60DE
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 6




Ne ApTUKYN HanmeHoBaHue Kon

70 LWnunbKa KapbopaTopa M6x94
81 |75720100000|MpoKNaaKa ronoBku
82 Wrnot

83 KnanaH BbINyCKHOM
84 KnanaH BnyckHow
85 fonoBKa umanHApa
86 bont M8x45

87 Cronop NpyXuHbl
88 Tonkarenb

89 LWanba

90 Ban Kopombicna

91 [ 246-630-166 |KpblWwKa ronoBku

92 | 246-630-167 |lMpoKNagKa ronoBKu

93 KopombICNo BbIMYCKHOTO KNanaHa
94 |75230030000|Kopombicno BNYCKHOrO KnanaHa
95 Mpy*KMHa KnanaHa
96 |60360130000(Konnavyok MacnoCbeMHbIN
97 F7RTC Cseua 3axuraHuma

S)Dw 98 Koxyx rnywmrensa

a ({(\@W 99 |75540120000|hywutenb

' : 33 81 100 Perynatop
101 Bont M5x10

102 | 909-402-102 (LLuTOK raywutena

[EENY JEENN ) Ny FIEN) FERNY FEENS =N [ S ) IR\ FEENy FEiN JEE PSR F SR N O NG (N NGy (FEEN) FIEN) FERNS ) G FEENS NN

* 1909-402-083 |FonoBKa umManHapa B cbope (83-96)

Mogenb
Fa30HOKOCUKA
LM46-60DE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 7




103

80

Ne ApTUKYN HanmeHoBaHue Kon
3 MNpobKka TonansHoro 6aka 1
4 [80010070000(CanyH 1
5 Mpoknaaka 1
6 |25250010000|Tpocuk 1
7 laiika M6 3
8 LWanba 1
9 AmopTusatop 2
10 |{25180230000|baKk TONAMBHbIM 1
11 dunbTp 1
12 3axnm 1
13 {25160010000(LWnaHr TONANBHbIM 1
14 3axKnum 1
15 BTynka 1
21 [60360090000|CanbHUK 22x35x7 1
22 bont 3
23 bont M6x12 2
24 KpoHLwTenH 1
25 bont M6x18 3
26 bont M6x14 7
27 | 909-402-027 |Y3en Topmo3HoM 1
28 LWaiba 3
29 | 246-630-107 |[py»KK1Ha perynatopa 1
30 |75160060000(Tara perynaTtopa 1
31 Ban perynaTtopa 1
32 CanbHUK 6x11x4 1
33 WnanHT 1
34 bont M6x23 1
35 Polyar perynatopa 1
36 Maka M6 3
37 3axum 1
38 3ac/oHKa 1
Mogenb
FasoHoKocuka LM46-60DE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




Ne ApTUKYN HanmeHoBaHue Kon
39 | 246-630-117 |Mpy*KuHa 1
40 Bont M6x12 4
80 Kaptep 1
103 [ 909-402-103 |CTapTep aneKTpUYeCcKui 1
104 MNnactnHa 1
105 Mpoknaaka 1
106 Kpbiwka 1
107 MNpoknaaKa 1
108 | 246-630-184 (MarHeTo 1
109 bont M6x25 2
* 1909-402-303 |Mpobka 6eH3ob6aKa (3-6) 1

Mogenb
FasoHoKocuka LM46-60DE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 9




Ne ApTUKYN HanmeHoBaHue Kon

1 laika M6

2 90-0683 |CrapTep B cbope

16 KoXKyx maxoBuKa

17 [60140050000(raiika M14x1.5

18 175210010000 (XpanoBuK ctaptepa

19 KpblnbyaTKka maxoBuKa

20 [ 909-402-009 |MaxoBuK

45 Wrnot

110 BuHT M5%25

111 |25190160280|KonbLo 3yb6yaToe maxoBuKa

R[NP |IRIR|IR[R]R|w

112 125190160280 (KpbiwKa gsuraTtens

Mogenb

Fa3oHOKOCUAIKA LM46-60DE

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 10




ApTUKYN

HanmeHoBaHue

Kon

41

LWarnba

42

Ta pPenka TonKaTenAd

43

246-630-120

Pacnpeagan

44

246-630-121

MpoKnaaKa KapTepa

46

75520020000

LLlecTepHn perynsTopa

47

BTtynka

48

3aXKum

49

Ban

50

LWainba

51

75240120000

KpblwKa KapTepa

52

246-630-129

CanbHUK 25x38x7

53

Bont M6x30

54

60200150000

Mpoknaaka

55

bont

56

KpoHLwTenH

57

246-630-133

fopnosuHa

58

Bont M6x50

59

246-630-135

KpblwKa

60

25300120000

dunbTp BO3AYLIHLIN

61

KpblwKa

62

25110100000

Kopnyc Bo3aywHoro ¢puabTtpa

63

TpybKa

64

75730100000

MpoKnaaKa Kopnyca

65

909-402-065

Kap6topaTop

66

909-402-066

Pblyar ynpasneHus

67

75730030000

MpoKknaakKka KapbtopaTopa

68

25090010000

Tennonsonatop

69

75730020000

MpoKnaaKa Tennon3onsaTopa

71

75130130000

Konbuo nopwHesoe |

72

75130140000

Konbuo nopwHesoe

73

75090060000

Konbuo nopwHesoe

[\CJ) N g PN Y TN PN PN TN T IS PN FEN R S N P N = N e e N e S R A R N S

Ffa30HOKOCUKa

Mogenb

LM46-60DE

Technical department Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

Pa

gell




Ne ApTUKYN HanmeHoBaHue Kon

74 175000070000 |KonbLo nopwHesoe

75 |246-630-152 |Konbuo cTonopHoe

76 |246-630-151 |Manev nopwHA

77 175120090000 |NopweHb

78 |246-630-154 |aTyH

79 175510750000 [KoneHsan

* 1246-630-123 |[LlectepHa mexaHuyeckoro perynatopa (46-50)

RRr|RrRrRr R[N ]R

** 1246-630-147 |KonbLo NOPLIHEBOE KOMMNIEKT

Mogenb

Fa3oHOKOCUAIKA LM46-60DE

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 12




